ANREY

Radiator Skid Plate

FOR Chevy/GMC Heavy Duty Trucks
2024 — Current

57060000AA
Last Updated: 1/22/2025



mAHEHIE.ﬁ.N EXPEDITION VEHICLES

INCLUDED PARTS QrTy REQUIRED TOOLS

Radiator Skid Plate 1 Rachet

Hardware Pack 1 Torque Wrench
15MM Socket, T40 Socket, T15
Socket
Jack stand

PLEASE READ BEFORE YOU START
To guarantee a quality installation, we recommend reading these instructions thoroughly before beginning
any work. These instructions assume a certain amount of mechanical ability and are not written nor
intended for someone not familiar with auto repair.

©2024 AEV



©2024 AEV

mAHEHIE.ﬁ.N EXPEDITION VEHICLES




mﬁ.HEHIE.&H EXPEDITION VEHICLES

14 INN-N SZ'L X 8W /8S8¥S1 1 INN-NSZ'L X 8W zl
| SALV1d AINS AH LL "“ONIdWYIS ‘dINS JOLVIav avool LdHLY 6998£0d Ll
z WSV ¥3HSYM ANV 1109 X3H ST X G'L X OLW 0096951 | zevorod ol
14 L€ X ST’ L X 8W "SDOHA ‘1109 (250e¥8/8) VV6/116AIY 1626£0Q 6
ol WSV JIHSYM ANV MIJDS XIH ST XS L XOLW LI8L1S LI ¥819€0Q 8
14 WSV JIHSYM ANV MIJDS XIH GE X SL L X TIW LES61G 11 G819€0d L
S 1109 IONVT14 XIH ST X S L X OLW 8€/885 1 | 8/5900d 9
S (G'G-G"1 IDONVY SSINMDIHL TANV) INN-NG'L X OLW 68687511 9669004 G
14 LNN OV14 ZIW ‘S3LV1d dINS AH L1 'INIWATIM DVO0S L0dHLY 9r€Se0a 14
| SALVd AMS QH 1L “DONIdWVYLS ‘dINS 1SNVHX3 av00g [ dHLY GzTse0d 5
| SALVd AINS AH 1L INIWATIM ‘dINS 3SVO-L avoy L0dHLY 80£5£00 Z
| SALVd AINS AH LL “ONIdWVIS ‘NS Sl VV00Z L dHLY 02zse0d |

AL NOILdI¥DS3a # 14V d # TVII3S MS %mq_

A%

©2024 AEV



ﬂﬁ.HEHIE.&H EXPEDITION VEHICLES

|. VEHICLE PREPARATION

1.

2.

Remove factory radiator skid Front Bumper, and Wheel Liner Close outs.

Install AEV Front Bumper (required for Radiator Skid Plate) and IFS Skid Plate (if purchased). Reinstall
factory Wheel Liner Close outs.

AEV Skid Plate Installation order if installing multiple skid plates:
A. AEV Front IFS Skid Plate, then AEV Radiator Skid Plate (Radiator Skid requires AEV front bumper).
B. AEV Transfer Case Skid Plate, then Exhaust Skid Plate.

i 2019-2022 models may require drilling frame mounting points for both the Transfer Case Skid
Plate and the Exhaust Skid Plate.

i DRW (Dually) truck variants of the Heavy-Duty truck will not support these skid plates.

Install 4 M8 U-Nuts on the front of the AEV Radiator Skid

Figure 1

©2024 AEV vV



ﬂﬁ.HEHIE.&H EXPEDITION VEHICLES

5. Ensure 4 M6 U-Nuts are installed to Wheel Liner Close Outs.

6. Free Align Skid Plate to ensure that the 2 rear mounting points and 5 center mounting points have
rivhuts/tapped holes.

Figure 2

7. Align Skid Plate utilizing a jack stand for installation. Ensure that the Radiator skid plate is resting within
the bottom lip of the front bumper, while encapsulating the wheel liner close outs.

©2024 AEV \



ﬂﬁ.HEHIE.&H EXPEDITION VEHICLES

8. Loosely tighten Bolts in the following order for safest installation:
A. Two rear 30mm M10 bolts (B-11588738)
B. 4 M8 Front Bumper Bolts
C. 4 Center M10 25 MM Bolts

D. 4 MA4.2Bolts

Figure 3

9. Torque Bolts to the following FT/LBS
A. M8 16 FT/LBS
B. M1042 FT/LBS

C. MA4.2 2 FT/LBS

©2024 AEV Vil



